PLS Cardiology Quiz
Posttest

. What is the most prominent type of medical emergency in the U.S.?
a. CVA

b. CHF

c. Cardiac

d. Diabetes

. Which one is not a risk factor for cardiovascular disease:
a. Cigarette smoking

b. Obesity

c. Hypertension

d. Slow heart rate

. Which statement is incorrect:

a. The pericardial sac reduces friction when the heart moves.
b. The apex lies in the abdomen.

c. The base is a large, flat portion of the heart.

d. 2/3 of the heart lies to the left of the midline of the sternum.

. Heart has how many chambers?
a. 4

b. 2
c. 3
d 1

. The heart has the ability to conduct its own electrical impulses?
a. True
b. False

. Arteries carry blood away from the body and are oxygen rich.
a. True
b. False

. Veins carry blood to the heart and have oxygen poor blood.
a. True
b. False

. Which artery do you check on the thumb side of the wrist?
a. Dorsalis pedis

b. Femoral

c. Radial

d. Carotid



9. Capillaries do not allow for the exchange of oxygen, nutrients, and waste with body
cells.

a. True
b. False
10. Which vein carries oxygen-rich blood from the lungs to the left atrium to be pumped
to the body.
a. Venules
b. Arterioles
c. Coronary
d. Pulmonary
11. Match the following intrinsic pacemakers with their inherent rates:
a. SA node 1. 20-40/min
b. AV node 2. 60-100/min
c. Ventricular 3. 40-60/min

12. Cardiac output =
a. Stroke volume X heart rate
b. Heart rate X Respirations
¢. Heart rate X Tidal volume
d. Stroke volume X Tidal volume

13. White blood cells:
a. Are composed of red blood cells
b. Give blood its color
c. Is a defense against infections
d. Helps to form blood clots

14. Systolic represents:
a. Pressure in the artery when the ventricles are at rest
b. Pressure in the veins when the ventricles contract
¢. Pressure in the veins when the ventricles contract
d. Pressure in the artery when the ventricles contract

15. What does the “R” stand for in OPQRST?
a. Onset of chest pain
b. How the pain feels
c. How long they have had pain
d. Where the pain radiates to



16.

17.

18.

19.

20.

Which drug is used to dilate the blood vessel and decreases the workload of the
heart?

a. Oxygen

b. Aspirin

c. Epi-pen

d. Nitroglycerin

Which condition is suspected when there is a build-up of fluid (congestion) in the
body?

a. COPD

b. Asthma

c. CHF

d. CVA

Which is not a sign or symptom of CHF?
a. No shortness of breath

b. Crackles (fluid)

c. Sitting bolt upright

d. Coughing pink sputum

In an EKG rhythm the “P” wave represents:

a. Repolarization of the ventricles

b. Ventricular depolarization

c. The time it takes for an electrical impulse to be conducted through the atria and
the atrioventricular node

d. Atrial depolarization

Electrical impulses can be seen on a cardiac monitor.
a. True
b. False



